Nuclear Chemistry

Complete the following nuclear reactions:

1.7 5Al + * He > 30,.p + Lin Fission
2. 6329Cu + 21H > 21()11 + 6430211 Fusion
3. 4420C3 + 11H > 442180 + 1()11 Fusion
4.°Be + 4 He > 2.c + Lin Fusion
5.%15P + 2 H > 4P + "P  Fusion
6.°715Cl + 2 H T + “)He Fusion
7.3%P + Lin > 30,,Si + ''"H Fission
8. 1 H + 2 H > 'H + ;H  Fusion
9.'.B + 4 He > N + Lin Fusion
10. 6329Cu + 21H > 6430211 + 1()11 Fusion
2 0 1 1 .
11./H + oY > H + on Fission
12.°15P + "H > S + “)He Fission
13. "N + 4 He > %o + ''"H Fusion
14. 23994PL1 + 42He > 1()11 + 24296Cm Fusion
15.94Cu  + "H > BoCl + i+ P hAl Fission
16. 6329Cu + 21H > 6429Cu + llp Fusion
17. 3%5,U + Lin > % ,,Mo + 2'n + %,Sn Fission
61 : 2 7 1 )
18. %L + H > 4Be + on Fusion
3 3 0 .
19.°/H > >He + .16 Fusion
61 1 4 3 .
20. °;Li + on > »He + H  Fission
21. 122518b + 1()11 > 122518b + 1()11
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